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August 27, 2019

Problem of the Day:  Simplify the expressions.
a.  ­3(4x ­ 6) b.  5(2x3 ­ 8x2 + 7x ­ 1)

Plan for the Day:  Introduce weekly homework
Review distributive property and solving 2­step 
equations
More practice with distributive property and 2­step 
equations
Objective:  We will be able to use the distributive 
property and solve 2­step equations.
Today is National Sponge Cake Day!!
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Puzzle Grading­
Completed first time, no mistakes 100%
Completed second time 90%
Completed third time 80%
Worked on it, but did not finish 70%
Did minimal work 50%
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